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1 Introduction

During the course of the SI and WI co-existence simulations have been a topic of discussion.  This document will try to summarize the simulation results provided by all the vendors in [1, 2, 3 and 4].  By showing all the results in graphical format it will be easier for the reader to compare the simulated results from all vendors. 
2 Discussion
The graphs below will show the comparison from the tabulated data collected.  Firstly, looking at Case 1a: AAS (horizontal cell splitting) interfering legacy system, 9 degree down tilt and horizontal +/- 25 degree cell split; it can be shown that most of the company’s results are within 4% spread in the cell average and 15% spread in the 5th percentile results for a correlation setting of 0%
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And similarly, for 100% correlation:
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Next looking at Case 1b: AAS (horizontal cell splitting) intering AAS (horizontal cell splitting) 9 degree down tilt and horizontal +/- 25 degree cell split; and again the results show that there is little difference between all company’s results with correlation at 0%.
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And similarily for 100% correlation:
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3 Conclusion

The results between each company are close.  Due to this we believe that there is no need for any additional coexistence simulations.  
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